Attachment Macroeconomics: A European Perspective 2015-2016
Chapter 1:

Chapter 2:
1. GDP growth rate: (Yt - Yt-1) / Yt-1

2. Labour force (L) = Unemployment (U) + Employment (N)

3.P;= Nominal GDP; €Y,

Real GD Pt Yt

Chapter 3:
1. C=(Y-T)+Co

2.C =Co +C1(Y-T)
3.Z=C+1+G

4.7=Co+ C1(Y-T) + lo + Go =Y (equilibrium condition)

5.
= 1

1-C1 X (Cot lo+ Go—CiT)
6.S=Y-C-T
7

(Y -C-T)+ (T-G) = Stotal

Since Y: C + | + G, it is logic to say that Y-C-G = |. When you subtract taxes from both side you get:
Y-T-C-G=I-T — Y-T-C=1+G-T

Since Y-T-C = private saving and G-T = Public saving you can say that:

(Y-T-C)-(G-T)=1

So S =l in the equilibrium. This is called the IS relation.

Chapter 4 :
1. Mg = €YL(i)
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3. Ms=My > M =€YL(i)
4,
* Demand for deposit accounts:
D= (1-c)M®
c is the share of money held as a currency
* Demand for reserves by banks:
R%= 6(1-c)M¢
* Demand for central bank money:
He= CU? + R® (with CU demand for currency)

* When we assume the equilibrium condition for central bank money, H = H?, we can
combine all equations to get:
H = (c+ 0 (1-c)) €YL(i)

5. money multiplier= 1: (c+ 6 (1-c))

Chapter 5 :
1. 1= 1(Y,i)
(+!_)
Leading to:
Y= Co + C (Y-T) + I(Y;i) + Go

Cutput, v



2. M/P = YL(i) (Note: (EY/P)=Y )
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Chapter 6:

EFP
1. Real exchange rate: € = o



2.(1+i) = (1+i) x (E / E%,,)
3.i=i*—((E°,, —E)/E)
4.Z=C+1+G—(IMfe) + X

5.C+1+G=C(Y=T)+I(Y,i)+G

+ +, -

B.Y=C(Y=T)+I(Y,i)+ G+NX(Y,Y*¢)  Where NX=X(Y* €)= IM(Y, €)/ ¢
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1+i=
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8. IS: Y=C(Y=T)+I(Y,i)+ G +NX(,Y* E)

LM: M/P = YL(i)
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Chapter 7:
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3.NX=S+(T-G)-1I

Chapter 8:
1. W= P°F(u,z)
(_’ +)



2. Total output = Labour productivity x workers > Y =AXxN

3.P=(1+u) W

4. W/P =F (u,z)

5. W/P =1/ (1+y)

6. N=L(1-u)

7.u=1-(YIL) And F (1-(Y/L),z) =1/ (1+p)
Chapter 9

1. AS relation:P=P¢ (1 +p)F (1-Y/AL, 2)

2.

price

Output, Y

3. AD relation: Y =Y (M/P, G, T)
+, o+, -

4.

AS



Chapter 10

1. F (u, z) = e
2.m=n°+(u+2z)-auy,
3. M= (M +2)-au

4., M= 0T + (M + 2) - auy
5.1 —1 = (U + 2) - au
6. T — T = - A (U — Un)

7. 1= (A + (1-A)11€) —au, —u )

Chapter 11
1. U= Upr = =0yt

2. Ut — U1 = -B (9yt — Gy)

3. gyt=gmt_-rrt
- i _ e

4. r=i-me,,

5.i=r+gn

Point—years o f sxcess unemployment

6. Sacrifice ratio = .
Decrease ininflation

Chapter 12
1.Y =Y (EP/P*, G, T)
2. Ewr = (1 + w1 / 1+ i*u1) Ee®

(i (1 HE, ) (1 HiE, )
T (1, )1 iE,

3. E

Eet+n+1

Chapter 13:
1.Y = F(K,N)



2. Output per worker = Y/N

Qutput per worker,

> Y/N=F (K/N, N/N) = F(K/N,1)

YN
YN =F(KIN, 1)
Capital per worker, K/N
Chapter 14:
1. S=sY
2. |t=SYt
3.

Kt+1= (1-0) Kt + It

—s Kes1/N = ((1-8)( K¥N)) +( s x YUN)
— (Ker1/N) — (KdN) = s(YyN) — 5(Ky/N)

4. (Ke+1/N) = (KyN) = sf(Kt/N) — 8(K¢N)

5.

Qutput per worker,
YN

Depreciation per
warker, BK/MN

CQutput per worker,
fKI/N)

Investment per worker,
sf(K/N)

Capital per worker, K/N

6. capital per worker is given by: sf (K*/N) = 8(K*/N)
The steady-state output per worker is:

Y*IN = f(K*/N)



Consumption per
worker. C/N

Maximum steady-state
consumption per worker

Saving rate, s

8.

Y=vVK VN.

When you divide both sides by N, as usual the equation looks like this:
Y/N=A(K/N).

— (Kt+1/N) — (KN) = s(v (Ky/N)) — §(K¢N)

9. C/N=Y/N — & (K/N)

10. CIN = (s (1-8)) / &

11. Y/N = f (K/N, H/N)

(+ .+)

Chapter 15:

1. Y=F(K, N, A) 2> Y = F(K, AN)
(+, +, +)

2. K/AtNt

3. sf(K/AN) = (& + ga + gn) X (K/AN)

4. 1=(0+ga+gn) K

Chapter 16

1
- c
1. €Vt = €Zt + 1+E.rtZt+1 + (14ig)(14ires)

1-[1/(1+0™

2.€V, =€ 1
t Z 1_:
3.€Vt/Pt=Vt

4. One year bond price: €P+ = €100 / (1+iy)



Two year bond price: €P2 = €100 / (1+i1)(1+i%1)

5. Expected return one year bond: (1+i)
Expected return two year bond: P / Py

6. €P, = €P% 11 / 1+in:
7.€P, = €100 / (1+iy)?
8. ie1t+1 = 2i2t - i1t

"G-Dre+ i ED[?+ Iz
Tiar  (1Higed (1485, .)

9. Nominal price of stock: €Q; =

DE,. N €DF, .,
1+re (1Frep(14m r+_:'

10. Real stock price: Q; =

Chapter 17

1. Human wealth: V (Y°r — T%)

2. p1C1 + P2C2 = Piy1 + P2y

3. C1 * (pa/p1)C2 = Y1 + (Pa/pi)y2

4. cq+ (1/1+r)Cc2 = yi + (1/141)y% = V(y%) witht=1,2

5. U (¢4, C2) = u(cqy) + (1 / 1+p)u(cz)

6. MRS = BU(cyeg) /ey _ _ UGy 1+
. T BU(cyed) ﬁaygaysz - r
7.
aUide, _14r
BU.-"E:"r:- 1+p

8.Ci=C (W, Yu—T)
(+, + )
Where;

e g
W, = WF + WH + Et FeoimTend
t t t =0 |:1+?“:||'

1 1
9.V (TI' t) TI' 1t |1+r'r]|1+rejl(1 6)1-[ w2t ...

10. I = 1[V{z)]
()

T
M=z

12. Rental cost = (r, + 9)



13. k= |[U{ﬂ::lﬂ:r]

14. = ()

)

Chapter 18

1.AY, T,n)=C((Y=-T)+1(Y,r)
So that the IS relation becomes:
Y=AX,T1)+G

(+7 ] ')

2. LM: M/P = YL(r)

Chapter 19
1.k=ao+ a1(1'ret+1 — TI'*) + ax (Yt;:'*)
Chapter 20

1. Capital ratio is the ratio of capital to assets.
Leverage ratio = assets / capital

Chapter 21

1. Deficity = rBis + G — T
2.B; — By.1 = deficit,
3.Bi=(1+r)Bu + (G =Ty

4. B¢/ Y= (1 + r)(BM/Yt) + (Gt - Tt)/Yt

6. yi =By +A

(G—Te)/Te
=

7.6

Chapter 22

1.7 =-a (u—un)



Chapter 23
1. T =1 - a (U — Un)

2. i =i*+a(m— 1) — b(ur— un)



